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Date Interpretation Table Chart Questions for Bank Clerk Mains 
Exams. 

DI Table Chart Quiz 8 

Direction: Study the following table carefully and answer the questions based on it. 
 

Number of Clerical and Officer Cadre Employees 
Recruited by five Banks over the years 

  

Banks A B C D E 

Years Cl. Off. Cl. Off. Cl. Off. Cl. Off. Cl. Off. 

2000 1245 312 7349 1015 862 124 1310 516 802 108 

2001 1500 246 6428 834 930 107 1509 562 945 139 

2002 800 415 5126 952 656 79 2400 786 532 148 

2003 1105 342 4917 725 548 63 1975 678 1140 364 

2004 1790 268 4724 812 702 59 2015 890 1650 692 

2005 2450 694 4319 560 694 56 1862 635 268 504 

 
 

1. In which year was the total number of employees, both clerical and officers together, 
recruited by Bank D the maximum? 

A. 2000  B. 2002  C. 2003  D. 2005  E. None of these 
 

2. In the case of which bank was there a continuous decrease in recruitment of clerical cadre 
employees over the years? 

A. B   B. A   C. D   D. E   E. None of these 
 

3. The number of clerical cadre employees recruited by bank E in 2004 was approximately 
what percentage of the number of officer cadre employees recruited by bank A in 2002? 

A. 200%  B. 300%  C. 40%   D. 400%  E. 350%   
 

4. In the case of which bank was there a continuous decrease in recruitment of officer cadre 
employees over the years? 

A. A   B. B   C. C   D. D   E. None of these  
 

 

 



 

 

Correct Answers: 
 

1 2 3 4 
B A D C 

Explanations: 

1.   We can clearly see from the table that 

In year 2002 maximum number of employees hired = 2400 + 786 = 3186. 

Hence, option B is correct. 

 
  

2.   From the table, we can clearly see that the bank 'B' there was continuous decrement in hiring of 
clerical cadre employees over the years. 
 
Hence, option A is  correct. 
 
 

3.  Clerk recruited by bank E in 2004 = 1650 

And officer recruited by bank A in 2002 = 415 

Approximate % =    
1650 

 × 100 = 397.59 ≈ 400% 
415 

Hence, option D is correct. 
 

 

4.   From the table, we can clearly see that the bank 'C' there was continuous decrement in hiring of officer 

cadre employees over the years. 

 
Hence, option C is correct. 
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